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Topic:- CDP_P2_CTET

" Assertion (A) : Learning and development are related to each other.

Reason (R) : Learning creates new conditions for development.

Choose the correct optioﬁ 3

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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1[Q:J([a;t19n |I|[)) =11]][Question Description = S8_CDP_Q001]

2. 2 [Option ID = 2]

3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)
Which of the following statements about child development is correct ?

(1) Development is a spontaneous process but appropriate environment is necessary to
facilitate it.

(2) Development is pre-determined by genetic factors and cannot be modified.
(3) Heredity does not play any role in development.
(4) The process of development begins only after the stage of infancy.
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[Question ID = 2][Question Description = S8_CDP_Q002]
1. 1 [Option ID = 5]



2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

? is the process by which children learn the norms of the society.
Assimilation

Meta cognition

Socialization

Segregation
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[Question ID = 3][Question Description = S8_CDP_Q003]

1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)
Assertion (A) : Sarla, a six year old cannot do tasks of conservation and seriation.
Reason (R) : Children in pre-concrete stage have difficulties in considering multiple

aspects of a situation.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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1[Q;.1?;;itci>or:] III; =1‘g[Question Description = S8_CDP_Q004]

2. 2 [Option ID = 14]

3. 3 [Option ID = 15]
4. 4 [Option ID = 16]



5)

According to Piaget which of these factors plays an important role in cognitive
development ?

(1) Activity

(2) Conditioning
(3) Imitation

(4) Reinforcement
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[Question ID = 5][Question Description = S8_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)

Umed does not eat the chocolates his father has got for guests thinking of what would

happen if he would get caught. According to Kohlberg’s theory Umed is at which stage
of moral development ?

(1) Instrumental purpose orientation

(2) Punishment and obedience orientation
(3) Universal ethical principles

(4) Good boy-good girl orientation
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[Question ID = 6][Question Description = S8_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)



Who proposed that learning occurs when child engaged in a shared activity with a more
knowledgeable peer or an adult ?

(1) B.F. Skinner

(2) Jean Piaget
(3) Lev Vygotsky
(4) Lawhrence Kohlberg
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[Question ID = 7][Question Description = S8_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)

When a teacher leads the child to the correct answer through various prompts rather
than mere explanation, the help provided is referred to as :

(1) scaffolding

(2) direct instruction
(3) conditioning
(4) reinforcement
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[Question ID = 8][Question Description = S8_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]



9) T . Al ISR
a progressive classroom leammg :

(1) Is constructed by the students themselves who play an active role

(2) Is dictated by the teacher and students are passive recipients of the same
(3) Happens by pairing of a stimulus and response

(4) Takes place when the students are offered positive reinforcement
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1[Q:l?;;it?or:] I|I|:)) =3Z}[Question Description = S8_CDP_Q009]

2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

"9 Howard Gardner challenged the notion that :

(1) intelligence is pre-determined and fixed

(2) intelligence is a broad concept that is not unitary

(3) there are multiple forms of intelligence

(4) individuals possess different types of intelligence in varying degrees
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[Question ID = 10][Question Description = S8_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)
Individuals with demonstrate excellent reasoning skills, abstract thought,
and the ability to infer based on patterns.
(1) Logico-mathematical intelligence
(2) Bodily-kinaesthetic intelligence
(3) Interpersonal intelligence
(4) Linguistic intelligence
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[Question ID = 11][Question Description = S8_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

In Lev Vygotsky's theory self talk that guides thinking and action is referred to as
and should be

(1) private speech; encouraged
(2) egocentric speech; encouraged
(3) private speech; discouraged
(4) egocentric speech; discouraged
g e & fagrl % SIaR ‘@ 9 Sl g9H 9" 9 SHeer i e g #
el g a1 fen s =nfe |
(1) TS Here; dearfed
(2) SACHBIET HeR; Fedred
(3) S Herre; ediefed
(4) SACHeRlE; BecaTed

[Question ID = 12][Question Description = S8_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)

Assertion (A) : In middle school, teachers should encourage boys to study mathematics

and sciences rather than languages.

Reason (R) : Boys do not have the inherent abilities to study languages.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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1[Q:1?;l§itci>or:] ||[; =419 ]3][Question Description = S8_CDP_Q013]

2. 2 [Option ID = 50]

3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14 Assessment should NOT be undertaken :

(1) To find out the readiness levels of children

(2) To reflect upon and modify teaching - learning

(3) To induce fear and stress of learning among children
(4) To support and improve children’s learning
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[Question ID = 14][Question Description = S8_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15)
During a class test a teacher finds that most of the students have responded incorrectly to
a concept based question. The teacher should :
(1) Scold the children and ask them to work hard
(2) Call the parents and complain that the children are not studying
(3) Make the students write the answers to the question multiple times
(4) Find out conceptual challenges in the students’ thinking and teach accordingly
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[Question ID = 15][Question Description = S8_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)
Which of the following statements is true about inclusive education ?

(i) It is a system of education, wherein students with and without ‘disability’ learn
together.

(ii) It is about ensuring participation of all children while removing exclusion,
discrimination, barriers to learning and participation.
(iii) It views differences between children and adults as hindrances for learning.
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(3) (i), (i )

(4) (1), (ii), (iii)
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[Question ID = 16][Question Description = S8_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)



In a classroom of diverse children, with children from disadvantaged communities, a
teacher should :

(1) totally ignore individual differences.

(2) work towards eliminating all cultural differences.

(3) recognize that differences are not ‘deficits’.

(4) identify children who can learn and focus on them only.
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[Question ID = 17][Question Description = S8_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

"®) Which of the following would promote learning in an inclusive classroom ?
(1) Competiive ethos

(2) Collaborative learning

(3) Standardized instruction

(4)

4) Rigid assessment strategies
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[Question ID = 18][Question Description = S8_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)



Which of the following are effective accommodations in the classroom environment as
per the needs of students with locomotor disabilities ?

(i)  Provision of barrier - free environment
(ii)y Ensure free movement by placing furniture in less restrictive manner
(iii) Follow multiple methods of assessment
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[Question ID = 19][Question Description = S8_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20)

Which of the following are typical indicators of creativity ?
(1)

Need for repeated practice

(ii) Inability to concentrate
(iii) Risk taking

(
(
(
(
(
(

W= 3

iv)  Flexibility

Intolerance for boredom
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[Question ID = 20][Question Description = S8_CDP_Q020]

1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21)

In a socio-construchvist classroom the teacher is
are to facilitate group work.

(1) Mobile; moveable
(2) Mobile; fixed

(3) Dictator; fixed

(4) Dictator; moveable
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1[Q:Jg[a;ti9n ||[; =821;][Question Description = S8_CDP_Q021]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22)

and the tables and desks
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Assertion (A) : Restricting learning to a permanent and measurable change in behavior

is problematic.

Reason (R) : Learning is a complex activity that includes processes that take place

internally.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 22][Question Description = S8_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23)

Experimental leamjng stresses :
(1)  The role of reinforcement in learning

(2) Importance of hands-on learning
(3) That learning is a product rather than a process
(4) Drill and mechanical practice
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[Question ID = 23][Question Description = S8_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24)



When students are not able to ‘perform’ as per the expectations of the school, the schools
should first focus on reflecting upon :

(1) The “deficiencies’ in these children

(2) The economic background of the parents
(3) The social background of the parents
(4) The school and the classroom environment and ethos
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1[Q:.|t[a;t19n |||; =923;1][Question Description = S8_CDP_Q024]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)
Which of the following describes use of heuristics in problem-solving ?
(1) A step-by step procedure for achieving as goals is prescribed.

(2)  The problem is divided into a number of intermediate goals and then focus on solving
each sub-goal.

(3) The students begin at the goal and move back to the unsolved initial problem.

(4) The student limits her search for solutions to situations that have something in
common with the one you currently face.
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[Question ID = 25][Question Description = S8_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)



Which of the following strategies is NOT helpful for a teacher to encourage emotional
self regulation in her students ?

(1) Helping students recognize and express their feelings

(2) Discussing strategies for coping with emotions

(3) Helping students recognize cultural differences in emotional expression
(4)

4)  Encouraging students to compete with each other and constantly make comparisons
creating a climate of mistrust
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[Question ID = 26][Question Description = S8_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

) An effective way to encourage children for learning goals is :
(1) to pressurise them to score well in exams

(2) to constantly compare their performance with peers
(3) to offer rewards or punishment for every behaviour
(4)

4) inculcate love, joy and curiosity for learning
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[Question ID = 27][Question Description = S8_CDP_Q027]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28)



Which of the following statements does not support a belief in socio-constructivist
perspective of learning ?

(1)
(2)

Children should receive qualitative feedback on their responses.

Teachers should make children aware of the inconsistencies in their thinking though
questioning,.

Teachers should ask questions to bring out children’s misconceptions and prompt
them to think on their own thinking,.

Children should take on a passive role during the teaching process.
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[Question ID = 28][Question Description = S8_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29)

Which of the following strategies would hinder students from becoming effective problem-
solvers and critical thinkers ?

(1)
(2)
(3)
(4)

Asking students if they are sure they understand the problem accurately
Encouraging the students to think of analogies
Asking the students to think rather than doing the thinking for them

Encouraging the students to see only one way of seeing the problem and focus on a
prescribed given solution
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[Question ID = 29][Question Description = S8_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30)



As an middle school teacher how will you increase intrinsic motivation in your students ?
(1) Encouraging competition

(2)  Punishing undesirable behavior

(3) Inculcating joy for learning

(4) Offering materialistic rewards
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[Question ID = 30][Question Description = S8_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

" Which among the following would be an example of diversity with equality ?

(1) Samir likes to paint and Mihir likes to sketch.
2)  Samir goes to school and Mihir sells newspaper.

)
3) Samir got new clothes for Diwali and Mihir wore his old clothes.
4)  Samir lives in a flat and Mihir lives in a hut.

(
(
(
frefetad 5 9 @ aura % g fafay 1 o e g ?
(1)  |HR R @1 93 AR R 6l o o9 owe 2

(2) TR THE S § R e STEar e 7

(3) HHR I SEe WA H0e Hel R TR 7 W w9 1E |
(4) EHRUF R H R fHER v ded § wa g

[Question ID = 91][Question Description = S8_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2)



People in Kerala practise different religions. What could be the reason for diversity of
religious practice ? Consider the two statements given below and choose the correct
answer,

(A) Jewish and Arab traders came to trade in spices and brought Judaism and Islam to
the people there.

(B) St. Thomas came nearly 2000 years ago and brought Christianity to the people.
Options :

(1) Only (A) is true and can be considered as a reason.

(2) Only (B) is true and can be considered as a reason.

(3) (A) and (B) are true and are valid reasons.

(4) (A) and (B) are true but not valid reasons.

e H o fy=-fom ol o1 wrom e €1 enfefen wensdt 6t Tafaem 3 foe = wro @ g g2

Freafafad g oAl R fa=r Fifay qur 58 faswey #1 =7 i
Tgal 3 ST AN HErEl # AR i A 9 SR T& A & fow agd o $in swm
@ |

(B) e &fFH TN & BN HIl Ueel Fel Y S ANl o forg $HE o @ |

faerea :

(1) A) T& & IR = FRO F ®Y H HET S Gohdl B

(2) %9 (B) 9l & 3R T8 FRU % €9 H HE S GHAT |

(3) (A) 3R (B) W&l & 3R & 99 HRO |

(4) (A) 3R (B) & § T & 99 RO R €

1[.Q:n[e;::)itci>or:] Il[D) ==396§j|[Question Description = S8_Social Science_Q032]

2. 2 [Option ID = 366]

3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3)

Match the following in the context of functioning of government and choose the
appropriate option :

Column X Column Y
(A) Local Government (I)  Decision to mark out grazing land area
(B) State Government (I)  Decision to give bonus to village
administrative officer in Madhya Pradesh
(C) Union Government (IIT) Introducing new currency note
Options :
(1) (A)-(D), (B)-(II), (C)-(III)
(2)  (A)-(I0), (B)-(1), (C)-(II)
(3)  (A)-(I), (B)-(), (O)-(II)
(4)  (A)-(I0), (B)-(1I), (C)-(I)



YR i FEfar & dev § fefafaa =1 g Fifsy SR 39 ey & 999 S
i X hicH Y

(A) ®HFEWEE () R & 9 gad o

(B) TF TR () weAYey ¥ uF W Yt siftreE a9 8 @ i

(C) €9 TR (D) % H&1 St < o1 o

ferere :

(1) (A)-(D), (B)-(II), (O)~(III)
(2)  (A)-(I), (B)-(1), (O)-(I1L)
(3) (A)-(II), (B)-(I), (C)~(1I)
(4) (A)-(ID), (B)-(11I), (C)-(I)

[Question ID = 93][Question Description = S8_Social Science_Q033]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4 s % ; .
" Who among the following in a state is appointed by the Central Government ?

(1) Speaker of the Vidhan Sabha

(2) Member of Legislative Council
(3) Governor
(4)  Chief Minister

Frefafad § @ v | foraet Fgfa = TR gr St €2
(1) faum qo sy (V)

(2) faum w1 9RuE & 9=

(3) TEUTA

(4) e

[Question ID = 94][Question Description = S8_Social Science_Q034]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

" Which of the following is be an example of employment with job security ?
(1) Daily wage labourer

(2) Casual worker
(3) Regular worker
(4)

4 Seasonal worker



Frefafad | | o il 1 Geen ard UsHIR o1 Teh Seredol & ?

(1) feerst weigx

(2) sfEfE wHE
(3) Trafad wd=
(4) HrEd FHER

[Question ID = 95][Question Description = S8_Social Science_Q035]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

®  Consider the following statements about casual jobs :
(A) Employees are required to come as and when the employer needs them.
(B) Employees get good working conditions.
(C) Employees are expected to work for longer hours.
Choose the correct option :
(1) Only (A) is true
(2) Only (A) and (B) are true
(3) Only (B) and (C) are true
(4) Only (A) and (C) are true

sifafag sPR % eyl | =t Al =i ufgu .

(A) TFRFR % a4 3 B 2 59 Wik &l 515 8 |
(B) NI 1w # ar=sl gund frerd £

(C) TR & ST S W FH F G Hi Sl F
Tl fearsheq &1 FAE I

(1) e (A) | 2l

(2) e (A) 3R (B) T E |

(3) ae (B) 3R (C) W&t ¥

(4) FFA (A) 2R (C) T ¥

[Question ID = 96][Question Description = S8_Social Science_Q036]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7)



An important mechanism during the parliament session by which the MPs elicit
information about the working of the Government and keep a check over the
executive is known as

(A) Zero hour

(B) Question hour

(C) Calling attention motion
(D) Walk out from the house

Options :

(1) (A), (B) and (D)
(2)  (B), (C) and (D)
(3)  (A), (B) and (©)
(4) (O, (D) and (A)

TS % T F G Ueh HecdqVl e g A § Hibe TRER & HHES & i § SR
BT L & T TR % S S5 W0 €, TR

(A) A

(B) WA A

(C) EAFTRYA W=
(D) He&T o SRR R

(1)  (A), (B) 3R (D)
(2) (B), (C) ¥R (D)
(3)

(4) (O), (D) 3R (A)

[Question ID = 97][Question Description = S8_Social Science_Q037]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

5) Which of the following will be called a balanced media report ?

(I)  One that discusses the government’s position only.
2

(2) One that is pro-people and anti-private companies.
(3) One that discusses the point of view of the disadvantaged sections of society.
(4)

4 One that discusses all points of view.



foerfefias & & ford ok wqfer Wifeen fdré 202

(1) a forad Fae Grr F s it == & T8 T

(2) =& S @nil % W E e fret e faers s #)
(3) =& S HHTS % ifed wHEEl % e &t == i 2
(4) = foms T vel =1 o w&t T ¥

[Question ID = 98][Question Description = S8_Social Science_Q038]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

) Which of the following provisions in the Constitution are recognition of equality :
(A) Every person is equal before law.

(B) Untouchability has been abolished.
(C) Every person has access to all public places.
(D) No person can be discriminated against on the basis of their religion, race, caste,

sex or place of birth.
Choose the correct option :
(1) (A), (B) and (C)
(2)  (A), (C) and (D)
(3)  (B), (©) and (D)
(4) Al (A), (B), () and (D)

e o 9 [ 9 geEd w ©@nfd s % o gieum & geaE €
(A) HE # gfie § & =fa guE 71

(B)  TEgYHrl skl S & faan 1 ¥
(
(

&>

C) & AR FEsie ©Iel T S el § |

D) fordt oft safa o wre swe o, sifq, g9, fon iR SFIe@ & onuR W fewE Tl R
ekl T |

et fasey 1 =999 Fifau ;

(1)  (A), (B) 7= (C)

(2) (A), (O) ¥R (D)

(3) (B), (C) ¥R (D)

(4)  (A), (B), (C) 3 (D) Tt

[Question ID = 99][Question Description = S8_Social Science_Q039]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

10)



Every citizen has freedom to practice and follow one’s own religion. This freedom emanates
from which principle enshrined in the Indian Constitution ?

(1) Socialism

(2) Secularism

(3) Democracy

(4) Republican form of Government

sk AN Rl WA & 7O o 1 e ST ST i i | R Gfaem | gfrenfia
o g A R Eiaa ST G 82

(1) HHSER

(2) e

(3) rRaA

(4) HERR 1 MUEIEHE EEY

[Question ID = 100][Question Description = S8_Social Science_Q040]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

11)
Which among the following would amount to an unfair trial in a case of theft ?
(1) The person accused of theft is given a copy of the charge sheet.

(2) The person accused of theft is provided with a lawyer by the state because he cannot
afford one.

(3) The lawyer of the accused is allowed to question the witnesses.

(4) Theaccused once found guilty is forgiven as heis a talented person from a respectable

family.

Torgl A o Al § Frerfafad 5 | 9 8 9 9Erdgol GAers A S ?

(1) =¥ =1 WY @Y T AfeRT hl STRY 931l shidl < |

(2) ShIel A I &A1 T TEH T T g SR ol gehiel STeisd e |

(3) SARIYd % Fehiel =l TemR d YS- FH & |

(4) TR =1 S O SH R gfameedt 3R St ofEn % 2R i asie | e R

[Question ID = 101][Question Description = S8_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12)



Where in Odisha did tribal people protest against displacement, upon the setting up of
an aluminium mine ?

(1) Dhaulagiri hills

(2) Niyamgiri hills

(3) Chirmari hills

(4) Giridih hills

3241 & forg & o T S g O o W AT gry fawengs o faliy su=<ier
AT TAT?

(1) drenfid ged
(2) =R veret
(3) ferfedl warst
(4) Fifcie v=q

[Question ID = 102][Question Description = S8_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

13)

Consider the following statements and choose the correct option, on the mid-day meal
programme.

Statement (A) The programme ensures parents from lower socio-economic strata
do not have to worry about giving three daily meals to their
children.

Statement (B) : The programme compensates for nutritional deprivations of
children.

Options :

(1) Only (A) is correct.

2) Only (B) is correct.

) Both (A) and (B) are correct.
4)  Both (A) and (B) are incorrect.

(&%)

(
(
(



AT IS o oyere HEd 1, Frefafad weei wfaEm wife ot ud s g

®U (A) ;I FEHA g i § R e gt anfiie feaft 3w fian 1 e
E =i e i1 E =t 0 IR ok e e 3l o o e & B e | R B R T el

HYUT (B) : AT FHEHH UN & HAHEl i wfagfd we g
farereq :
(1) aet (A) F& 2

(2) el (B) Tl B
(3) (A) 3 (B) S TA B |
4) (A) 3 (B) EHI TeE ¥

[Question ID = 103][Question Description = S8_Social Science_Q043]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

14) In which text of Buddhism were the rules for the monks and nuns of the Sangha

compiled ?
(I) Vinaya Pitaka

(2) Sutta Pitaka
(3) Abhidhamma Pitaka
(4) Jataka

dtg o % fory gy § g9 % fuy ud fagoft & fere amme o fael & dae e 22
(1) forafges

(2) HafwEH

(3) AfYy=TEs

(4) Sfdsh
[Question ID = 104][Question Description = S8_Social Science_Q044]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]

3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

') People who study historical objects are called,

(1) Curators

(2) Archaeologists
(3) Archivists

(4) Calligraphers



ag SAfokl 1 HEelld @ Sl Ufdaliseh a%gsil ol 159 hid 8 7

(1) Hysure
(2) guEElEg
(3) qUerEE

(4) Hiewmwd (goE®)

[Question ID = 105][Question Description = S8_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

16)
Read the following Assertion (A) and Reasoning (R) and choose the correct option.

Assertion (A) Chola king Rajendra I built a Shiva temple in his capital and filled
it with prized statues seized from defeated rulers. Sultan Mahmud
of Ghazni, a contemporary of Rajendra I, also attacked the temples
of defeated kings and looted their wealth and idols during his
campaigns in the subcontinent.

Reason (R) - In the political culture of the middle ages most rulers displayed
their political might and military success by attacking and looting
the places of worship of defeated rulers.

Options :

(1) (A) is true but (R) is false.

(2) (R) is true but (A) is false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AR (A) TUTHR (R) Tl Ue a4l el ke 1 == i)

R (A): =i TS Toig 9oH A 10T Teier § e wfew 1 fmi ween s san
Tufsa Wl ¥ Sed #i TR Sope gfamell 9 39 W femn UShE wew &
YT TFT o ordH Hg9g A WG, YRS B 79 SIREmE % S
Tufsra Tsnel o Hiel & o= AR g =i o fomn

HEOT(R) : AP UsTHifdeh HEhfd § SHERR WEE 319 TSiHiaeh sel a Hi e e
T S TRIfST TR o SUTHAT TUE! T STRRHUI i 3R 3% o2 FL A 9|

Tererea -

(1) (A) 5@l & 9 (R) Terd |

(2) (R) T % 9%q (A) e |

(3) (A) 71 (R) S |l € a1 (R) Tel = § (A) i

(4) (A) T (R) ST W2 & T (R) Tl =02 &1 & (A) Fi |

[Question ID = 106][Question Description = S8_Social Science_Q046]
1. 1 [Option ID = 421]



2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

17 g s
) Put in sequence the process of temple town formation.

(A) Pilgrims visited the temples and made donations.

(B) Large number of priests, workers, traders settled near temples.
(C) Rulers endowed temples with grants of land and money.

(D) Temple authorities used wealth to finance trade and banking.

HfeX TR & Foior =Rt ufehan =i e @

(A) et et o st gH-gfamn fem )

(B) <t g | qifea-qar, HR 23R SRl Hied & o 959 T
(C) e Hfed = fd Td &9 e | <d 91

(D) HfeX % whal-ydl 4feT % ¥ %1 AR v wesrl | @ 91
faerea

(1) (©), (A), (B) ¥R (D)
2 (A), (B), (© ¥R (D)
(3 (O, (A), (D) 3R (B)
4 (A), (©), (D) ¥R (B)

[Question ID = 107][Question Description = S8_Social Science_Q047]

1. 1 [Option ID = 425]

2. 2 [Option ID = 426]

3. 3 [Option ID = 427]

4. 4 [Option ID = 428]

18)
Which of the following statements are true about the making of regional cultures in the
eighteenth century ?
(A) Itis a product of intermixing of local traditions with ideas from outside.
(B) It isa highly localised practice specific to a region.
(C) It was always confined by political boundaries.
Options :

(1) (A) and (B) are correct.
(2) (A) and (C) are correct.
(3) (B) and (C) are correct.
(4) (A), (B) and (C) are correct.



sTeedl Te | &5 gepfadl & o & an o frefatag § 9 #F 91 %o 96 82
(A) =8 T wiaus| o e il & fa=rl & sTem-ueH | Hu= gl |

(B) ¥ U &7 H oy T W |

(C) I Haa TSHitas Hmisii & sHl o

faerea :

(1) (A) 3R (B) Wl €1

@) (A) iR (C) T g

(3) (B) 3R (C) WE €

(4)  (A), (B) SR (C) Wel &1

[Question ID = 108][Question Description = S8_Social Science_Q048]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

19) Kabir challenged the formal religions of his time by

(1) ridiculing the priestly classes.

(2) adopting the language of nobility.
(3) denouncing the formless God.

(4) preaching salvation through rituals.

el F G & Ao gEl A o

(1) ISTRI =01 1 SUeE 32 & 51|

(2) SISl St |7 ST BRI

(3) TAueRR e =t fHer gr

(4)  emifafy 2 areg @ gfed =1 Suew 39 gRI
[Question ID = 109][Question Description = S8_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]



20) The English cultivated indigo in

(A) Jamaica

(B) India

(C) Caribbean Islands
(D) Venezuela

SIS 3 e T af w
(A) T

(B) Rd

(C) wiifsars gy e
(D) STeT
faesea :

(1) (A) ¥R (B)
(2) (C) %R (B)
(3) (D) ¥R (B)
(4 3 (B)

[Question ID = 110][Question Description = S8_Social Science_Q050]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]
21)
The Birsa Movement had important consequences, such as :

(A) Colonial government had to introduce new forest laws to safeguard the tribal land
from dikus.

(B) Tribal chiefs got new land titles under the British land settlements.
(C) Tribal people showed the capacity to protest against colonial rule.

Choose the correct option :
(1) (A) and (B)

(2) (A)and (C)
(3) (B) and (C)
(4) (A), (B) and (C)



fore AR % Hewaqu a4 S5 o

(A) SArafEfeE awr 1 Sipe 9 snfeardt S gran % fae 90 o1 FEE aF 1)
(B) enfeardt gfgeii & s s el & simia stiF % o arfererm sifeesr 2 fau )
(C) enfeardt @il 3 eiufafees wem % fovg wiads #37 t oma = g

T2t farehed =1

(1) (A) &R (B)
(2) (A) 3R Q)
(3) (B)3MW(C)
4 (A), (B) ¥R (C)

[Question ID = 111][Question Description = S8_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

22)
Read the statements “A’ and ‘B’ on Mahatma Gandhi’s views on medium of education :
(A) : Gandhi strongly felt that Indian languages ought to be the medium of teaching,.
(B) Education in English made Indians, strangers in their own lands.
Choose the correct answer of the following :
(1) Both (A) and (B) are true but (B) does not explain (A)

(2) Both (A) and (B) are true and (B) explains (A)

(3) (A)is true but (B) is false

(4) (A) is false but (B) is true

foren & wreTy W AR MYt o faen % Hed § wum (A) TS (B) 1 Ug 991 W S A ¢
(A) : e Y g wean o fo foran haw s wmeiedt F € < s =nfew)

(B) : s o forenm il 1 ot € i W TSRl o W o |

HEl fasheq =1 994 it |

(1) @A (A) ud (B) T&t € g (B), (A) it =men 7 & 2

(2) SHi (A) T (B) W& € 91 (B), (A) Tl AR Hl T

3) (A)Wél & o (B) e 2

4) (A)7Ted § foheg (B) TRI B

[Question ID = 112][Question Description = S8_Social Science_Q052]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]



23 ’ : :
) Henry Derozio was the leader of which of the following reform movement ?

(1) Self Respect Movement
(2) Aligarh Movement

(3) Young Bengal Movement
(4) Singh Sabha Movement

T Sl freferfaa & & =9 & gur sTider & 3 92
(1) @M siger

(2) 3TENTE HAieer
(3) IS SR
(4) THe B ARKEH

[Question ID = 113][Question Description = S8_Social Science_Q053]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

24)
Read the following statements and choose the appropriate option :

(A) In 1919 Gandhiji gave a call for Satyagraha against the Rowlatt Act that the British
had just passed.

(B) Mohammad Ali Jinnah however supported the Rowlatt Act.
Options :
(1) (A) is true but (B) is false

(2) (B) is true but (A) is false
(3) Both (A) and (B) are true
(4) Both (A) and (B) are false

Trefafaa Al =1 1¢ a0 3uge ooy o |
(A) 1919 ¥ wiefsit = 30t g B € H Wi foRe MU T e o faemd gemE 6 e

feman
(B) R IR Aal for=1 7 Uere A 1 wHeda
farehea :

(1) (A) @& & foreg (B) T B |
(2) (B) W&l & forg (A) e &)
(3) (A) 7= (B) S |E
(4) (A) T (B) 2FT T E |

[Question ID = 114][Question Description = S8_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]



4. 4 [Option ID = 456]

25)

Which one of the following statements is NOT true regarding the radical leaders of Indian
National Congress ?

(1) They criticised the moderates for their ‘Politics of Prayer’.

( They emphasised the importance of self-reliance and constructive work.
(3) They felt that the British had respect for the ideals of freedom and justice.
(4) They believed that people must fight for their swaraj.

YA UL HIUH o TH T 6 Adiel & Hed § Fefafad 5 9 <6 9 %97 96 T8 27
(1) 3= 79 <6 i T Hgh e #i fF & (709 <o) ‘weln it gsefa’ e €1
(2) 3= ATHMYRA U TEAHS HE o Heed 9 S A

(3) FHEd 9 6 S SR UE A 6 e R 2

(4) dHAEd U T @RI = SO =S % fae st dg =iee |

[Question ID = 115][Question Description = S8_Social Science_Q055]

1. 1 [Option ID = 457]

2. 2 [Option ID = 458]

3. 3 [Option ID = 459]

4. 4 [Option ID = 460]

26)
‘Unlike neighbouring countries like Pakistan and Sri Lanka, India handled the linguistic
problems very carefully after Independence.’
Which of the following statement/statements justify /justifies this :
(A) The Indian government respected all the regional languages.
(B) Regional languages were given freedom to flourish.
(C) Hindi was not imposed on any other regional languages.
(D) The government avoided language related problems.
Options :

(1) (A) and (B) only

(2) (B and (C) only

() (A (B)and (C) only

(4)  (A), (B) and (D) only



‘T F A S <9l S wifeEaE i dieient & faudd, wRd 7 sl eensii s 99
T H Hare' |
ST T &1 Frefafad § | &F 978 H29 98 8 ¢
(A) SITTa TR A H &5 e =i gesid < |
(B) & TSl SR WHG € i SIS S R |
(C) &=t =1 &7 & sTisdl X &rdn =& 77/ |
(D) TR et Greifed gesi | a9 1 §a F @
faaey -
(1) Sheret (A) 3 (B)
(2) A (B) ¥R (C)
(3) e (A), (B) ¥ (C)
(4) 9 (A), (B) 3R (D)
1[.Q:T;Eit?0r:1 |I|; :416 : ]6][Question Description = S8_Social Science_Q056]
2. 2 [Option ID = 462]

3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

27)
B.R. Ambedkar led the 1927 temple entry movement because

(A) people who were called "untouchables’ by the casteist society were not allowed
inside the temple.

(B) He had already become Buddhist and wanted Buddhism to be considered as a sect
of Hinduism.

(C) He wanted Hindu society reorganised on principles of equality.

Options :

(1) Only (A) and (B)

(2) Only (B) and (C)

(3) Only (A) and (C)

(4) (), (B) and (C)



T1927 H . IR, ereee 7 HiEt ¥ siicer o s

(A) Sifoerdt ars gR ' o1@d’ e S arel @l o Hfet § yasr st sigafa =8 off |

(B) 9% Ugcl & alg 99 T iR =d o foF dig o 1 fegag o U wew & &9 H uE S|
(C) e =med 9 fo fég gure gumar & fagia W qrifed &

faeweT :

(1) e (A) 3 (B)
(2) e (B) 3 (C)
(3) ad (A) 3R (O)
(4 (A), (B) ¥R (C)

[Question ID = 117][Question Description = S8_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]
28)
Read the folluwing statements about Moon.
(A) Only one side of the moon is visible to us on the earth.

(B) The time taken for moon to complete a spin on its axis and the time taken to orbit
the earth is exactly same.

Choose the correct option.
(1) Both (A) and (B) are true, and (B) is the correct explanation of (A).

(2) Both (A) and (B) are true, but (B) is not the correct explanation of (A).
(3)  (A) is true but (B) is false.
(4) (A) is false but (B) is true.

‘g’ % 9 H e e o6 ufeu

(A) T T =AW Ao U o 9w usa ¥

(B) =iZHI %l 3199 181 G A a1 2a1 o =1l IR TRt oRTH H T Tk Sl 90 ol 2|
& fameq 1 =51 Hify

(1) 2Fi (A) SR (B) H&l g, IR (B) T& AW 7l & (A) |

(2) @A (A) ¥R (B) W& E, o (B) WE =AmEm 7 # ® (A)

(3) (A) W & fFg (B) e B

(4) (A) Ted & foReg (B) W& 2

[Question ID = 118][Question Description = S8_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]



) Labrador Current is a
(1) Cold current
(2) Warm current
(3) Canary current
(4) Surface current

AFER HRT Teh gl
(1) 9fid STaem

(2) T SAUR

(3) AN HW

(4) HIRE EW

[Question ID = 119][Question Description = S8_Social Science_Q059]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

* Which of the following are factors of soil formation ?
(A) Altitude and slope
(B) Flora and Fauna
(C) Temperature and Rainfall
(D) Time
Choose the correct option :
(1) (A), (B) and ()
(2) (B), (C) and (D)
(3) (A), (C) and (D)
(4) Al (A), (B), (C) and (D)

e W 9 i A HRe g i § gerges g2 § 2
(A) T TE B

(B) o &ufdsia us wifurs

(C) a9HE & i

(D) &5

e fasey 1 g i

(1) (A), (B) 7= (C)

(2)  (B), (C) 71 (D)
(3) (A), (C) 91 (D)
(4) |4 (A), (B), (C) 74T (D)



[Question ID = 120][Question Description = S8_Social Science_Q060]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

31)

Consider the following statements about waterways and choose the appropriate option.
(A) Waterways are the most commonly used means of transport for short distances.
(B) Navigable rivers and lakes are used as inland water ways.

(C) Durban and Cape Town are important ports in Africa.

Options :

(1) (A) and (B) are true

(2) (B) and (C) are true

(3) (A) and (C) are true

(4) Al (A), (B) and (C) are true

ST o a1 H e T e Sl sl ufeu qer 39gEd fashed o1 FE Sife |
(A) 9 g0 A o ge Afe 39 fe S et §r Stemn €

(B) rex Afedl qen sfiell o1 SUEN sqeyid Siamnt & fore g ¥

(C) @A 3R FU2EA TFIH & Heedyo] Ie ¢ |

famwea :

(1) (A) ¥ (B) Wel €1

(2) (B) TN (C) T €1

(3)  (A) @1 (C) Tl €|

(4) =@ (A), (B) T (C) WEl £

[Question ID = 121][Question Description = S8_Social Science_Q061]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

32) Consider the following mineral deposits :

(A) Limestone deposits of caucasus region of France
(B) Manganese deposition of Georgia and Ukraine
(C) Phosphate beds of Algeria

Which kind of rocks holds these deposits ?

(1) Igneous rocks

(2) Sedimentary rocks

(3) Igneous and sedimentary rocks

(4)

4)  Metamorphic and sedimentary rocks



Frefafad aftsi & Fey @ fo=m
(A) TRIE o HIhRIE You & AT Jeer FHam |
(B) SHifsmn 3R ek o Hers e |

(C) IS & HEhe FEH |

g fohe W & del | 91 €72
(1) 3w g 9«
(2) erEEmEr St

(3) AFAT R sraEre Yo
(4) FEiaRa it sEae! I

[Question ID = 122][Question Description = S8_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

33)

Consider the statements (A) and (B) about conventional energy and choose the correct
answer.

Statement (A) Conventional source of energy are those whose occurence is in
limited local area and which have been in common use for a long
time.

Statement (B) Only fossil fuels are sources of conventional energy.

Options :

(1) Both (A) and (B) are true
(2) Both (A) and (B) are false
(3)  (A) is true but (B) is false
(4) (A) is false, (B) is true

TG Sl & oI T FeA (A) 991 (B) T fomm Y &K 9E St R 91

HIT(A) Tl F WRET G 3 € ST T & W e i § e S ols aeE
YT SYERT § w00 S @ F

®YF (B) :  hAd SERT 8T TUIE Sl o B ¢ |

Taeney -

(1) (A) iR (B) SF WEl €|

(2) (A) R (B) Hi Ted 1

(3) (A) F&l g e (B) 7T € |

(4) (A) e § @feR (B) W €

[Question ID = 123][Question Description = S8_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]



3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

* Which of the following pair/pairs, is/are correctly matched.
(A) Maize : High temperature and light rainfall
(B) Cotton : Moderate temperature and rainfall
(C) Jute : High temperature and heavy rainfall
Choose the correct option.
(1) Only (A)
2)  Only (©)

(2)

(3) Only (A) and (B)

(4)

I § 9 FE WA, Sreysie 98 w9 H A § €
(A) TR - I A9UE AR gkt I

(B) FIE -  HAH aqHE SR gl

(C) & - = a9aH AR 9E 99l
(1) =d (A)

(2) 9 ()

(3) e (A) 3R (B)

(4) W (A) X (©)

[Question ID = 124][Question Description = S8_Social Science_Q064]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

35)

If you stay in the Southern Hemisphere, which of the following will hold true about 21+
June ?

(1) Longest day and shortest night

(2) Equal day and night

(3) Shortest day and longest night

(4) Continuous daylight is experienced



3P 319 gferoft wierrs F @ 1 21 S % = # Frefataa § G o a1 g g
(1) Hed o f& ofr gad 2 v
(2) =R feA &R T
(3) T B fod R Head el I
(4) TR weRTe T SATVE B
1[.Q:n[a;::)itci>or:] ||[D> ==419 §]5][Question Description = S8_Social Science_Q065]
2. 2 [Option ID = 498]

3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

36)

When the Prime Meridian of Greenwich has the sun at the highest point in the sky, all the
places along this meridian will have .

(1) Sunrise
(2) Sunset
(3) Mid-day
(4) Midnight

Hifa w2 frem w9 arrR g F99 99 ot & gad S fog W 2, 39 9 Aareien T
frerg ot T W Euil

(1) e

(2) AR

(3) @

(4) -l

[Question ID = 126][Question Description = S8_Social Science_Q066]

2. 2 (opton 0 - 302

3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

" What lies at 66%2° North of the equator ?

(1) Tropic of Cancer

(2) Tropic of Capricorn
(3) Arctic Circle
(4)

4 Antarctic circle



T 99 o 66Y%° 3T H I TSl 7 2

(1) e

(2) wEL @

(3) SHYIIH
(4) =t g Ia

[Question ID = 127][Question Description = S8_Social Science_Q067]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

38) The Middle Himalayas are known as :

(1) Himachal
(2) Shiwalik
(3) Aravali
(4) Himadri

T ferrerd o wel 9§

(1) e

(2) fererfemn

(3) erEd]

(4) femifz
[Question ID = 128][Question Description = S8_Social Science_Q068]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]

3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

** Which of the following are forms of precipitation ?

(A) Flood

(B) Snow

(C) Hail

(D) Sleet

Options :

(D) (A), (B), ()

(2) (&), (B), (D)

(3)  (A) ©), (D)

4) (B (Q), (D)



frreferfad | & sF 9 960 % YRR g2

(A) =@

(B) T&n

(C) rem

(D) Wfed gfe
faeea :

(1) (A), (B), (O
(2) (A), (B), (D)
(3)  (A), (C), (D)
(4) (B), (), (D)

[Question ID = 129][Question Description = S8_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

40) Which gas is known as the greenhouse gas ?

(1) Oxygen

(2) Nitrogen

(3) Carbon Dioxide
(4)

4 A—rgon

forg T = fiersy 19 #ad €2

(1) At

(2) RS

(3) HET SEARIES

(4) @i
[Question ID = 130][Question Description = S8_Social Science_Q070]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]



M : : g
) History at the elementary level constitutes the following :

(A) Grand narratives
(B) Chronology

(C) Subaltern histories
(D) Critical thinking
Options :

(1) (), (B) and (C)
() (A), (B) (O and (D)
(3) (A)and (B)

(4) (B, (C) and D)

yrfires W sfaer fA=fafas @ nfeqd & -
(A) =4 gUH

(B) RITRH

(C) Heneed zfae™

(D) s fHa

faeroyT

(1)  (A), (B) #R (©)

(2 (A), (B), (©) 3 (D)

(3) (A) ¥R (B)

(4) (B), (O) ¥R (D)

)
)

[Question ID = 131][Question Description = S8_Social Science_Q071]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

42) Studying Social Sciences at the elementary level is vital for the following reasons :

(A) To understand the society one lives in.

(B). To appreciate values enshrined in the Indian Constitution.
(C) To become a responsible citizen of a democracy.

(D) To learn to respect differences of opinion.

Options :

(1) (A), (B) and (D)

(2 (A), (B) and (C)
(3) (A)and (B)
(4) (A), (B), (C) and (D)



yRfe T amifses fasr o asrge fefafen sl 8 s €
(A) 5" 99§ =d € 39 99 & fau)

(B) sdra Hfaum ¥ wfoweifua gedi i weian & fam)

(C) wiishas H fmigR Amfie B o ferg |

(D) WHAHEI = FHE H F A

fawea :

(1)  (A), (B) 3R (D)
(2 (A), (B) ¥R ()
(3) (A) R (B)

4) (A), (B), () R (D)

[Question ID = 132][Question Description = S8_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

43)
Consider the following statements and choose the correct option.

Statement (I) : The manner in which teachers teach values in classroom has a profound
impact upon students’ learning.

Statement (II) : The impact of citizenship education is substantially less in schools where
democratic practices are few or absent all together.

Options :

(1) Statement (I) is false but (II) is true

(2) Both statement (I) and (II) are true and statement (II) is an example of statement

(I).
(3) Statement (I) is true but (II) is false.
(4) Both statement (I) and (II) are true but statement (II) is not an example of statement

(1).



Frafafaa el W fa=mr i IR 9et fasweq =1 =9[ &1 :

e (1) : o e & forers oot e | gl 1 RATH Rd € SR SR faenfE
‘ sAferTe O TR TE Ted B

HI (1) : AR foren =1 9e arafes w9 4 57 affefe § o € € wel i e
FEd FH & HUT HYUEY § TGRS 2 |
faeeu :
(1) %A (1) 7o & 95 (1) &1 2 1
(2) U (1) (1) ST B § o1 A (1), FUA (1) F 3T 2
(3) A (I) WEl & U (11) T §
(4) A (1) AR (1) SH1 SE1 2 9 A (1), 5 (1) 1 380 T 8|
1[.Q1ut[agltjitci>or:1 |I|[)) ==512 §]3][Question Description = S8_Social Science_Q073]
2. 2 [Option ID = 530]

3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

44 . i : ;
) Which of the following values are necessary in a democratic classroom ?

(A) Group feeling

(B) Obedience

(C) Individualistic feeling

(D) Critical thinking

Choose the appropriate option.
(1) (A) and (B)

(2) (B)and (C)
(3) (A)and (D)
(4) (B)and (D)

= ° 9 FF § god UF TSI el o folt sTeeas €2

(A) wHE-a

(B) AR

(C) =AfFTE-—=Y

(D) A r=AcHs T
I9gad foshed &1 FAE Fifs
(1) (A) $iR(B)

(2) (B) ¥R (O

(3) (A) (D)

(4) (B) ¥R (D)

[Question ID = 134][Question Description = S8_Social Science_Q074]



1 [Option ID = 533]
2 [Option ID = 534]
3 [Option ID = 535]
4 [Option ID = 536]

AN wNn =

45)

A teacher wants to teach students about, "how to locate place ? Which teaching material
could be used ?

(A) A globe
(B) A world map
(C) Films

(D) A map of India

Choose the appropriate option :
(1) (A), (B) and (C)

() (A), (B) and (D)

(3 (B), (C) and (D)

(4) Al (A), (B), (C) and (D)

e TorfareRt 319 Bl &1 forsil T 61 feafd % o F 9 e orme fowe gem =ed 8 ) e |
= E faeror gt o gE w5 =iE

(A) T

(B) ferva =1 Terem

(©) fes

(D) I =T TeFel

39 fashed =l FAE il

(1) (A), (B) 9= (C)

(2) (A), (B) @1 (D)

(3) (B), (O 7en (D)

(4) (A), (B), (C) 7o (D) B
[Question ID = 135][Question Description = S8_Social Science_Q075]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]

3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

46)



Which of the following could be used in an elementary social science classroom while
discussing about ‘gender” ?

(A) Stories of women’'s struggle.

(B) Educational participation data of women and men.

(C) A wall paper of gender practices in different societies.

Choose the appropriate option :

(1) Only (A)

grifier T o gifeiss faa et o # siet fawa o ==l & g e ° 9 o wnfier fean s
HFdl &2

(A) wigensii & Fud &t FHera |

(B) wfeenell o qEsl it Aferss wwiart & oAimE |

(€) Tafi= gt § yafer Siet vensii =t guiar gen afauw |

3G faeheq &l = wHifeu
(1) ae (A)
(2) e (B)
(3) e (Q)

(4) (A), (B) = (C)
[Question ID = 136][Question Description = S8_Social Science_Q076]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]

3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

47)
Consider the following statements and choose the correct option.

Statement (I) : Civics as a subject in the Indian school curriculum was the result of
imperial policy of the British Government.

Statement (II) : Civics was introduced in view of the increasing disloyalty among Indians
towards the British Raj.

Options :

(1) Only statement (I) is correct
(2)

(3) Both statements are correct and statement (II) is correct explanation of (I)
(4)

Only statement (II) is correct

Both statements are incorrect.



Frafafaa woml w faam i oiR el fasmey =1 = il :
HUA (1) : W famme greseg H Arer s s fawg & w9 § fafew wwem 6t ot Fifa
1 RO o7
HUA (1) : Torfew U= o faeg Wl H agdl AT &l 22 H Ed 30 AN O a1
faerea
(1) Hae FoH (1) & 2
(2) el Y (II) Tel & |
(3) T T | ¥ SR F (10), (1) T TE = ¥
(4) T FEE T
1[Q:.1¢[a;tit?n |||; =514 ;;]7][Question Description = S8_Social Science_Q077]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

48)

An imaginative social science teacher’s skills are best reflected in which of the
following :

(I) Only in notice boards

(2) Insimplifying concepts for exam purposes
(3) Inastory telling session during assembly
(4) In plan design and assessment

frefatead § & frg o wh wegmeiia gt fasm % e & S 4o 9 § gafdd a0 €1
(1) —aa gz |
(2) wltE & SevEl o o Heredrsl w1 W 9 H o |
(3) H () F HEA HA-AEA H |
(4) S &9 T AR H |
1[Q:u[e;tic_>n |I|[)) =514 3]8][Question Description = S8_Social Science_Q078]
2. 2 [Option ID = 550]

3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

49)



A teacher wants to discuss about various ecosystems in her classroom, which of the
following examples are most appropriate :

(A) Desert

(B) River

(C) Ocean

(D) Coral Reef
Options :

(1) (A), (B) and (C)

(2) (B, (O) and (D)
(3) (A), () and (D)
(4) Al (A), (B), (O) and (D)

e forerer stat shen # fafue wiftfeafaeta =i & =it == o0 9ed € | e 3 4 e e
o 3faa §7

(A) e

(B) &

() ¥9=

(D) =T/ =g
faere

(1) (A), (B) 7= (C)
(2)  (B), (C) @1 (D)
(3) (&), (© 7= (D)
(4) (A), (B), (C) T (D) W
1[.Q:J([a;:)itci>or:1 |I|[)) ==515 .':]‘)][Question Description = S8_Social Science_Q079]
2. 2 [Option ID = 554]

3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50)
‘Discuss why is the work done by women less valued than that of men in our society 7’
What is the relevance of such a question in Social Science classroom ?
(A) Such questions help in initiating discussion in class.
(B) Such questions help in recognizing discrimination prevalent in society.
(C) Such questions have no fixed answers and have no educational value.

Choose the appropriate option :

(1) (A) and (B)

(2) (B) and (O)

(3) (A)and (C)

(4) Al (A), (B) and (C)



"= ey for ol R wmrst | wfecrsti gro o e et i il ge 1 STien %Y gee fed
e 2" e faam it s § UR Al 6 wnfae R S et g i § 2

(A) TH 99 el H == 1 YEAE A H HeHH 2 2 |

(B) UM WA WIS § TG STHHHASH w1 ISR H H WEHE B ¢ |

(C) TH ywi % fafvaa 39w 76l 2 € iR gem g $iferss Tee =1 ©

3IUg fashed &l = T
(1) (A) 941(B)
(2) (B) @ (C)
(3) (A) @ (O

(4) W (A), (B) T (C)

[Question ID = 140][Question Description = S8_Social Science_Q080]

1. 1 [Option ID = 557]

2. 2 [Option ID = 558]

3. 3 [Option ID = 559]

4. 4 [Option ID = 560]

51)
What should be the sources for students to find out the difference between the life style of
people in Brazil and India ?
(A) Pictures from the two countries collected from magazines/internet
(B) Census data of Brazil and India
(C) Trade treaty between Brazil and India

(D) Movies of Brazil and India

Options :

(1) (A) and (B)

(2) (A) and (D)

(3)  (A), (B) and (C)
(4)  (A), (B) and (D)



STSiel Ud YR F Sl bt SiaA-Viell & 919 o 7% o1 Ia1 e o fora famnfeEi & g o wa
B =1feY ?

(A) FER/EE 9 Tt 3 gl 9ol & o

(B) HAISIe U {INe ohl SRTUMAT o1 Sl

(C) iIsitel T 9IXd < s S49R HfY

(D) WSie T8 9Rd & e

fawea :

(1) (A) 3R (B)
(2) (A) ¥R (D)
(3) (A), (B) ¥R (O)

4) (A) (B) ¥R (D)
[Question ID = 141][Question Description = S8_Social Science_Q081]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]
52)
Consider the following statements :
(A) For an enabling curriculum, certain themes that facilitate inter-disciplinary thinking
are required.
(B) The boundaries of different social science disciplines need to be opened up, and
plurality of approaches may be applied to understand a given phenomenon.
Choose the correct option :

(1) Beth (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

e el o forar wifera

(A) TF gud areHgAl & fou UH fave-ag &t eTavTdl & Si stafduaes faaram 1 gt
|

(R) fafi= wmfse fagml =t fawa-dmsil =1 Giem #t seawswa § aifs < 78 afees =
THe o Tt o2 g o SURTHT %1 WERT foRan T HE |

w& fame o1 g Hifau

(1) (A) @21 (R) S Wel & 31 (R) HEl =90 i € (A) Fi |

(2) (A) @ (R) S TE E foReg (R) WEl =ame @ R © (A) F
(3) (A)HEIE fohg (R) oM B

(4) (A)TTerd &, foheg (R) HE &1



[Question ID = 142][Question Description = S8_Social Science_Q082]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]
53)
Which of the following is true about generalisations ?
(A) They are statements indicating relationships between two or more concepts.
(B) Generalisation may appear as descriptions, principles, explanations, evaluation
and prediction.
(C) Generalisation cannot be judged as true or false.
(D) They can not be understood fully unless their constituent concepts are understood.
Choose the correct option :

(1) (A), (B) and (C) only

(2) (B) (C) and (D) only
(3) (A), (B) and (D) only
(4) (A), (©) and (D) only

Frefafad § 9«5 9 gmeie & a9y § 98 82

(A) &< IR sifersk Heheqmredi & &g & GeHl ot oI Yohd T a1l A §
(B) WA SieRtol, SAenst, Yol Ud YalHM] shi GHE Wefld &l Tehd ¢ |
(C) T 3 T&l SAoE] TeT i TXE Jedishd Tl foha S Wehall €1

(D) 7RI HHU ®Y H & GHHA 1 Hehdll STd e I7eh] HEIZH HehedAISll sl A HHHA 5 Heh |
uﬁﬁwwwﬁm-

(1) 9 (A), (B) 3R (Q)

(2) 9 (B), (C) 1R (D)

(3) e (A), (B) 3 (D)

(4) e (A), (O) ¥ (D)

1[.Q:J?;Eitci>or:1 |I|; ==516 ;1]3][Question Description = S8_Social Science_Q083]

2. 2 [Option ID = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

54)



While teaching about historical sources, which of the following questions are relevant for
discussion in the class ?

(A) Who wrote a specific text ?
(B) When was the inscription done ?
(C) Was there any objective for making the painting ?

Options :

(1)  Only (A) and (B)
(2)  Only (B) and (C)
(3) y (A) and ()
(4) (A)f (B) and (C)

Ao S % =9 § yen e, Fefafed § 8 S99 @ ww s § ufemEt % fag g €2
(A) Torem fafere wra famn?

(B) sifera e fopar a1 ?

(C) =0 T 991 1 FE 327 917

fawea :

(1) e (A) 3R (B)
(2) A (B) 3 (Q)
(3) e (A) R (O)
(4 (A), (B) IR (Q)

[Question ID = 144][Question Description = S8_Social Science_Q084]

1. 1 [Option ID = 573]

2. 2 [Option ID = 574]

3. 3 [Option ID = 575]

4. 4 [Option ID = 576]

55)
‘Can you list two ways in which you feel advertising effects issues of equality in a
democracy 7’
What is the relevance of asking such a question in social science classroom ?
(A) To gauge the extent to which the learner has understood the concepts.
(B) To test recall skills of the students.

(C) To provide space for learners to articulate main ideas of the concept in their own
words.

Choose the appropriate option :
(1) (A) and (B)

(2) (B) and (C)
(3) (A) and (O)
(4) Only (A)



" a S1Tq U 1 e S ek § e R 21 G @ fop fame o e wiekd s H geEd & g1
R YSdg?"’

et fomm it e | TH 9o g2 &1 R yrEfehar €7

(A) FE AFEH F T HEg Fd ¢ 9 UhEd ol A sEuRmst w gug fom €
(B) DI o TR % I i S e Hid ¢ |

(C) B oI TEA TauRN 7 fogail 1 2777 vea] H =79 i 1 TF ad © |
ST Toehed 1 =57 Hife

(1) (A) @ (B)
(2) (B) @ (C)
(3) (A)T=(©)
(4) I (A)

[Question ID = 145][Question Description = S8_Social Science_Q085]
1. 1 [Option ID = 577]

2. 2 [Option ID = 578]

3. 3 [Option ID = 579]

4. 4 [Option ID = 580]

56)

A geography teacher found that most of her students performance was poor in a test.
She identifies that they lacked mapping skills. She then plans a systematic intervention to
improve their mapping skills. The teacher is involved in :

(1) Assessment of Learning
(2) Assessment for Learning
(3) Evaluation
(4)

4 Action Research

yiiel 1 uek forfer Y@t € for srfueay e wh e T A wgd Fee @ s e e #)
3H 918 9 fafad HTdl § o 379 A9 Iiel o1 SHHT 8| A shiee i Sedt i o (o 98
gomaferd @ 9 30 i i ¥ FW St drer s €1 foferes oo § @ forg H o €2

(1) Aferm™ =1 SrReH

(2) T B AeRe

(3) HEATRA
(4) HHEHH FTHIH

[Question ID = 146][Question Description = S8_Social Science_Q086]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]



57 7 - ¥
) Why do people of the Sahara desert wear heavy robes’ ?

This question attempts to assess students’ ability to :
(1) Hypothesise

(2) Reason
(3) Infer

(4) Generalise

i WE WEH % I 9 o6 Yo € 7 7 W9 fernefi 1 &1 I S 1 FAH
FLAEI

(1) ufEreg

(2) % Wk

(3) ool feprer

(4) HHEH 3HE

[Question ID = 147][Question Description = S8_Social Science_Q087]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

58)

In a norm-referenced test on Geography, which of the following design would be most
suitable ?

(1) Essay
(2) Viva-voce
(3)  Multiple-choice-question

(4) Practical demonstration

Wil R Ah-Gafifd o f frefated § § 9 dt siiemer gaifas ST 2t ?
(1) oTga

(2) difigs e
(3) =g faerey e
(4) YR YevE

[Question ID = 148][Question Description = S8_Social Science_Q088]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]



59) “Make a list of different kinds of land use in your neighbourhood.”

This question attempts to assess students ability to :
(1) Introspect

(2) Observe
(3) Interpret
(4) Generalize

“ 3o g H 4 w1 3 fRe-fre yeR 2 @ R, saet e sen
ug e famneff st oY &THT I ST o1 WA SR B |
(1) STcHfEweTEo &
(2) TR HH
(3) A HEH
(4) HHERT SFHE @
[Question ID = 149][Question Description = S8_Social Science_Q089]
Qo

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

60)

To do a project on trees in my neighbourhood, what would be the sequence suggested to
students ?

(A) Presentation

(B) Planning data collection

(C) Observation

(D) Recording and Reporting

(E) Discussion

Options :

(1) (&), (B), (O, (D), (E)
(2)  (B), (C) (D), (A), (E)
3 (©. (A) (B), (D), (E)
4 ©, (D), (A) (B), (E)



3T9H ST o gail T U Ui 0 & forg, fernfef= st gemen 7o sts 0 & Hehe 2

(B) 3Tk Tohgl T il AT

(C) Aa@rFA

(D) fifen AR ufaees wega &t
(E) ufe==i

faesey :

(1) (A), (B), (©), (D), (E)

(2) (B), (C) (D), (A), (E)

(3) (O, (A), (B), (D), (E)

(4) (©, (D), (A), (B), (E)

[Question ID = 150][Question Description = S8_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q91-99_L1_P2_CTET

1)
fem T TTEITYT R SMUR WY US T UYS 1 I o T werd Sude fased s wrae it |

foreacea o1 ST $91 U4 WM YAIEst 51 Sl 81 ST S XM afierrg 169 S HEE
(31 1 9=1E) IR ST o Bfae HE S 81 foveece & - fadan 3RS e @A 9
IR 5 B & fosaeeat 1 U g& o i 8IS fom o911 gea (Seen) it 1 o fadam
T T A T 981 % A I 9 U] IR 1 3SR TR W 3E | g1 ufd-ge 3 92 T 3R T
Y 39 Aeish i Ter-ar R | S Seed’ B4 o SR Aeish @l A deged 9 T fae’
affet aman § e s 8 1 39 21 &4 | 39 @E 3 favaees F 9 @ yfas g Fed §
o 3197 <9 i et A & Y- 379 T e § ST o 99 i S § =l T | g6l
VA, AN a1 G353 1 hieq svard fean 1 o e i & Tan &t @ a1 wrs | @ '
=fe | 3= argent A1 ki faget 9 farame & fomn siR st faan i wiifd w9l g4 o1 &9 wE
ol | afg-geh <A oS Hardt sfia & ofX Ter WiveR % Ef § w6 e |

foeereg e O 3 o =16 A9H G H b A ?

(1) 9% T % forg
(2) e T & YR
(3) I ®EH & fau

(4) il = Far HE & o

[Question ID = 181][Question Description = S8_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]



2)
fou 7T TTeryT o MUR U U T W9 T ST o (oTC Wee Suger faehed o1 o ahifold |
fasaeeier =1 5= $H1 Jd YYH vamEs] 91 S ¢ ST S T afHeg T o "
(3711 1 ==18) VBT 3IR 911 Bfag el Sl ¢ fovaecay & Am- U $8R-38 ¥ Bd 9|
IR S B Bl faeaeeat %1 Uk 9% o A< 818 fe 911 deqa (Jrl) Sifd i U fH:dHaH
AT Sl A 3% 981 o I T 9 Y21 Ul Al ISR R o AR | SHT 9fd-Ue 7 98 T 3R g
¥ 39 AT i Grer-ao fEA | S Caed’ Bl & R aleish sl A deqad 98 T | fae’
affer v H ety ves § 1 g9 19§41 | 39 ave 3 fovaeee ¥ M B wfog gu) #ed §
o5 3197 <9 I el S & G- 379 Hie-faen H ST o U A Sie § =l T | 58l
S, A 91 G99 1 Hied Ay A i g o o Ter w0 @ o 9ue | 8 @
Fifew | 3= argert 919 %1 fagdt § foare s faan ok erom faan =t o sae 999 &1 19 0
o | afa-ue S 9 Hard Sie 9 7 Te Wusn % FE H ohl |

Tosaeaat il Goil o1 1 AH o1 7

(1) foget

(2) TG

(3) TRt

(4) FFCE!
[Question ID = 182][Question Description = S8_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]

2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



fau 7T TTEryT o MUR U U T W9 Rl ST oh (G0 Hee SUga [aehod ol =a ahifold |

fasaeeier =1 5= $H1 Jd YUH vamEs) 91 S €1 ST S T afHeg T o "
(3711 1 =18 VBT 3R 911 Bfae el Sl ¢ fovaecat & Ama- U 38R-38 g9 ©d 9|
IR T B 2 favaeds® # U 99 % = e fom a1 sewg (S Wifa i v fEae
AT Sl A 3% 981 o I I 9 Y21 Ul Al ISR R o A | SHI 9fd-Ued 7 98 T 3R g
¥ 39 AT i Grer-ao fEA | S Caed’ Bl & R aleish sl A deqad 98 T | fae’
afer arn ¥ ety v § 1 g8 1 &4 | 39 ave 3 favaeee ¥ W @ wfgs gu) wed §
o5 3197 S I HeHT S & G- 379 Hie-faer § ST o U S Siel § =l T | =6l
SIM, A a9 dF-0 1 e srvarg foeen ) R grn fE o T e @ o gue | d e
Tifew | 3= argert 919 %1 fagst § foare w2 faan o) erom fyan =t offa o 997 &1 9 0
wr | af-uel <91 9 g S 9 &) ger wiusr &l H o )

Hd ' foeaeeray’ & 1 H ‘goera’ o a1 82

(1) e
(2) ITE
(3) Tk
(4 4

[Question ID = 183][Question Description = S8_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



fau 7T TTEryT o MUR U U T W9 Rl ST oh (G0 Hee SUga [aehod ol =a ahifold |

foreacear o1 S S8 T4 YT VATl WSl 1 36 S T afierg 19 w1 HEE
(TS 1 F=18) YR SR AW gfag FE S 81 favaecer & AU SRS Ed ®d 9
T S 2 € favaede) #1 Uk g4 & 9 s fom o1 geeE (Seen) Sifa #uE fEaE
AT T A T 981w Hid Thl W S 9l Al SSEE H e A | /I Ifd-uel 7 98 T8 R TS
Y 3H et ol -9 fohdn | 376 ‘g’ 2 % SR aleish il A1 deeal 98 7E | fas
Affe e § STege v5s ¢ | 39 319 B4t 39 aie o fovaeeer % M 9 ufis gu) #ed €
T o199 ST i el S & T9ETd-o ST FTe- o & ST & ae T el § =6l 10| J8l
A, T 9 TA-H3 1 Hieq v fran | fr T o @ e i @ @ wee 5 & '
=ifen | =i argent T &t faget & faare i fomn SR oo faa = Jifa e g9 &1 FE FE
| fa-Tel 1 9 Hardt S & 3R Hel I9HR o wE § o G |

~

feeeear o1 S o qid o18 el 1S feal 7 o172
(1) S H
(2) T
(3) == H
(4) wEFW

[Question ID = 184][Question Description = S8_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

5)



few 7T TN & SMUR WY UY T UYH w IR o (610 HeH Sugead fawmey @t wee st |

fereareegat &1 S S91 Jd Y99 Ydleal HF1 Sl 81§91 S ¥ qfierg 159 Rl 98
(3T =1 =12 ) VIET SR W gfag wE St 81 foedeeet % An- o $E-S g @d 9|
3% 5 B & fvaeaas #1 T 94 % = B1S fom o1 aoa (o) Sifa i Eae
AT T 7 3% 981 T A R W IS U o 9T W A | SF1 ufg-ue 7 9 g 2R T
Y 39 wIere w1 -9y foman ) 36 ‘aeqd’ 8 % SR Elelsh S A deeat 98 H | fas]
affet v § STeTge vss § | 39 19 B4 | 39 aE o favacae % MW § wfgs gul wed §
o o799 S 1 STl S o U9ETd-o 379 gTar-fad & o7& @ aU S Sd § 96l 0| J8l
S, AT 991 d5-H3 1 Hiod 31y fman | o g T o dar == & O 99 | 8 @
afeq | 3= argent 919 i fagst & faare st fomn oiiv et foan st i ser g7 =1 s &
& | afd-et S aS Hardt sta 9 SR Hel WIsHR % HEl ° o @l |

Towaeaa | = FfeT A =)

(1) =49, 9, difes fa=n

(2) @, qifen fern

(3) =AM, iR famn

(4) it e, = foran
[Question ID = 185][Question Description = S8_Hindi Content/Pedagogy_Q095]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



fau 7T TTEryT o MUR U U T W9 Rl ST oh (G0 Hee SUga [aehod ol =a ahifold |

foreacear o1 S S8 T4 YT VATl WSl 1 36 S T afierg 19 w1 HEE
(TS 1 F=18) VR SR A gfag FE St 81 favaeer & Ao SRS Ed ®d 4
IR S Bid Bl faeacdat 1 Tk 9% o 14 SIS fedr 911 goqqa (Seer) Sifd i v fA:Ham
AT T A T 981w Hid Thl W S 9l Al SSEE H e A | /I Ifd-uel 7 98 T8 R TS
H 3H et ol -9 foran | 37 ‘g’ 2 % SR aleish 1 A degal 98 7E | fas
affe e § STeEeE w5 ¢ | 35 1 R4t 39 aie 9 fovaeeer F M € ufis g1 #ed §
T o199 ST i el S & T9ETd-o ST FTe- o & ST & ae T el § =6l 10| J8l
A, A T dF-H3 T Hfed vy e R e T e e e @ g § @ @
=fen | I argent T it faget I faare w2 foren SR oo faa &5 Jifa e 999 %1 FE FE
| ufa-Te S S Hard SiE 9 3R §e1 9R9RR % FE § o W |

TNl % foRg 3791 ¥ var <ot € T Ha faeaeqay 3R 39 Uel %1 |y Td YEfd 9EE § 2
(1) @1 fuan =1 wifq saer g ol

(2) ARt T R fag | e ge

(3) Hel WIUFR & FHE § o @

(4) UL HE SA H Tl M

[Question ID = 186][Question Description = S8_Hindi Content/Pedagogy_Q096]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)



fau 7T TTEryT o MUR U U T W9 Rl ST oh (G0 Hee SUga [aehod ol =a ahifold |

foreacear o1 S S8 T4 YT VATl WSl 1 36 S T afierg 19 w1 HEE
(TS 1 F=18) YRL SR A gfag FE St 81 favaeder & Ao $ER-SE Ed ®d 4
IR S Bid Bl faeacdat 1 Tk 9% o 14 SIS fedr 911 goqqa (Seer) Sifd i v fA:Ham
AT T A T 981w Hid Thl W S 9l Al SSEE H e A | /I Ifd-uel 7 98 T8 R TS
Y 3H et ol -9 foran | 37 ‘g’ 2 % SR aleish 1 A degal 98 7E | fas
Affe e § STege v5s ¢ | 39 319 B4t 39 aie o fovaeeer % M 9 ufis gu) #ed €
T o199 ST i el S & T9ETd-o ST FTe- o & ST & ae T el § =6l 10| J8l
A, A T dF-H3 T Hfed vy e R e T e e e @ g § @ @
=ifen | =i argent T &t faget & faare i fomn SR oo faa = Jifa e g9 &1 FE FE
| ufa-Te S S Hard SiE 9 3R §e1 9R9RR % FE § o W |

AT Sufa A HaH 3w o
(1)  TehH

(2) =g

(3) b=

(4) e

[Question ID = 187][Question Description = S8_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)



fau 7T TTEryT o MUR U U T W9 Rl ST oh (G0 Hee SUga [aehod ol =a ahifold |

foreacear o1 S S8 T4 YT VATl WSl 1 36 S T afierg 19 w1 HEE
(TS 1 F=18) YR SR AW gfag FE S 81 favaecer & AU SRS Ed ®d 9
T S 2 € favaede) #1 Uk g4 & 9 s fom o1 geeE (Seen) Sifa #uE fEaE
AT T A T 981w Hid Thl W S 9l Al SSEE H e A | /I Ifd-uel 7 98 T8 R TS
Y 3H et ol -9 fohdn | 376 ‘g’ 2 % SR aleish il A1 deeal 98 7E | fas
Affe e § STege v5s ¢ | 39 319 B4t 39 aie o fovaeeer % M 9 ufis gu) #ed €
T o199 ST i el S & T9ETd-o ST FTe- o & ST & ae T el § =6l 10| J8l
A, T 9 TA-H3 1 Hieq v fran | fr T o @ e i @ @ wee 5 & '
=ifen | =i argent T &t faget & faare i fomn SR oo faa = Jifa e g9 &1 FE FE
| fa-Tel 1 9 Hardt S & 3R Hel I9HR o wE § o G |

afaer o & ‘fae’ = a1 ¥ -
(1) fa=
(2) &
(3) fawax
(4) A

[Question ID = 188][Question Description = S8_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)



few 7T TN & SMUR WY UY T UYH w IR o (610 HeH Sugead fawmey @t wee st |

fereareegat &1 S S91 Jd Y99 Ydleal HF1 Sl 81§91 S ¥ qfierg 159 Rl 98
(3T =1 =12 ) VIET SR W gfag wE St 81 foedeeet % An- o $E-S g @d 9|
3% 5 B & fvaeaas #1 T 94 % = B1S fom o1 aoa (o) Sifa i Eae
AT T 7 3% 981 T A R W IS U o 9T W A | SF1 ufg-ue 7 9 g 2R T
Y 39 wIere w1 -9y foman ) 36 ‘aeqd’ 8 % SR Elelsh S A deeat 98 H | fas]
affet v § STeTge vss § | 39 19 B4 | 39 aE o favacae % MW § wfgs gul wed §
o o799 S 1 STl S o U9ETd-o 379 gTar-fad & o7& @ aU S Sd § 96l 0| J8l
S, AT 991 G5-H3 o1 hiod 31y fman | o g T o dan ==t 8@ O 99 | 8 @
afeq | 3= argent 919 i fagst & faare st fomn oiiv et foan st i ser g7 =1 s &
& | afd-et S aS Hardt sta 9 SR Hel WIsHR % HEl ° o @l |

3) W+ 3URR
(4) T+ IHR
[Question ID = 189][Question Description = S8_Hindi Content/Pedagogy_Q099]

1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET

1)



feu T wEneT 3 MUY W YW T Uy W SO o foru, et Sugen faemen o wem st
TSl T e e fe T
| ®@ g3 & faea foq 9999 &)
ST ol Uk W Sl ol STHT 9,
ToRET THHY T T[See I U e |
9§ freRter o g fem He 5,
TGl § TR T 216 SAH 6 Tl |

e i} T 3@ Tk Sl 8 ?

31Ty o1 GREi 9 47 &E A 8 2
Ffera # =fa fra Al 0 Te W@ 72
(1) F3MHEH
(2) SFHFEH
(3) A9 F=FUA
(4) wHE Fe &

[Question ID = 190][Question Description = S8_Hindi Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

2)



feu T wEneT 3 MUY W YW T Uy W SO o foru, et Sugen faemen o wem st
e 9T e gev-feq = &;
| ®@ g3 & faea foq 9999 &)
ST ol Uk W Sl ol STHT 9,
TG T T [See 1 U Fed |
g ¥ fm 3 7 femn 5 =,

@l T R O 316 Sl 99 Seid |

e = aR-9’ 3E] d% S 8 ?

31Ty o1 GREi 9 47 &E A 8 2
i forg o o=t o7 & SR ug=n 272
(1) HHaR
(2) HIETER
(3) FFER
(4) FEEIfder

[Question ID = 191][Question Description = S8_Hindi Content/Pedagogy_Q101]
1 [Option ID = 761]
2 [Option ID = 762]
3 [Option ID = 763]
4 [Option ID = 764]

A WwWN =

3)



feu 7T qEIyT 3 SMUT UT U T WY T IO o foTU e SUge faenea ot wree shite |
arel 9 gerd Ia-Tad s &
drd T8 g7 & favan fer v=9e |
EHT o1 U W ! A ST Y,
TERAT THEY R T[SEe I Th Fed |
g | fhter =T yae fen |irer =,

2T B EIR T 816 Dol a9 B |

sArae i IR-aR 3@l T S & ?
sty 1 gt | = S A R 2

sifael 1 SH-9R i@l ae S R oii dahd e €2
(1) &ir@l sl FYSIR gfte H1 IF FH HI -

(2) ArEl H 4S ga I WE H h SR

(3) i@l | =ed gl F1 A & T

(4) Gt & Agat 1 died w R

[Question ID = 192][Question Description = S8_Hindi Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

4)



feu T wEneT 3 MUY W YW T Uy W SO o foru, et Sugen faemen o wem st
TSl T e e fe T
| ®@ g3 & faea foq 9999 &)
ST ol Uk W Sl ol STHT 9,
ToRET THHY T T[See I U e |
9§ frertet o g fem He 5,
Tl B L T 31 S qe D |

A= i} T FAE 1k Sl 8 ?
s11g 1 Gl & I 5 7§ 2

wfa 3ir gftar & o9 e TE &1 98 w9 wiaar #f fea d9fea | gar gear &2
(1) HITel 1 JHIE <1

(2) THEY O TE [EEd H Fe ol
(3) i@l ¥ =N H BAFA
(4) UAH T A I STHAI

[Question ID = 193][Question Description = S8_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

3)



feu T wEneT 3 MUY W YW T Uy W SO o foru, et Sugen faemen o wem st
TSl T e e fe T
| ®@ g3 & faea foq 9999 &)
ST ol Uk W Sl ol STHT 9,
ToRET THHY T T[See I U e |
9§ frertet o g fem He 5,
TGl § TR T 216 SAH 6 Tl |

A= i} T FAE 1k Sl 8 ?

s11g 1 Gl & I 5 7§ 2
HHA-T o TgE 4 = B2
(1) T
(2) TEE
(3) W&
(4) BEH

[Question ID = 194][Question Description = S8_Hindi Content/Pedagogy_Q104]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

6)



feu T wEneT 3 MUY W YW T Uy W SO o foru, et Sugen faemen o wem st
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[Question ID = 195][Question Description = S8_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET
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[Question ID = 196][Question Description = S8_Hindi Content/Pedagogy_Q106]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
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[Question ID = 197][Question Description = S8_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]
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[Question ID = 198][Question Description = S8_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)
AT A SAYL S 6 TAU ST9A1 SAREY FEH €| 3HE [ 98 o i WY 9RO 98 @l g1 39
YER % YA i F1 FHal S ?
(1) T A’ W/ 989
(2) S H 93T
(3) T foregd w2
(4) 391 H v
[Question ID = 199][Question Description = S8_Hindi Content/Pedagogy_Q109]
2. 2 10ption 5 - 794

3. 3 [Option ID = 795]
4. 4 [Option ID = 796]
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[Question ID = 200][Question Description = S8_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]
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[Question ID = 201][Question Description = S8_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]

2. 2 [Option ID = 802]

3. 3 [Option ID = 803]

4. 4 [Option ID = 804]
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[Question ID = 202][Question Description = S8_Hindi Content/Pedagogy_Q112]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
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[Question ID = 203][Question Description = S8_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]
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[Question ID = 204][Question Description = S8_Hindi Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]
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[Question ID = 205][Question Description = S8_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]

3. 3 [Option ID = 819]
4. 4 [Option ID = 820]
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[Question ID = 206][Question Description = S8_Hindi Content/Pedagogy_Q116]



1 [Option ID = 821]
2 [Option ID = 822]
3 [Option ID = 823]
4 [Option ID = 824]

N wNn =

12)

T reIfeRt 3 <@ o So famneff eros <ree H ad it Teaal R ® 1 ST 9 9e $
YA % fAU 315919 &1 SE-H1 e i ggEa 1 =men ?

(1) AR 1 =™

(2) HFE feEm

(3) T g2A

(4) gaerE

[Question ID = 207][Question Description = $S8_Hindi Content/Pedagogy_Q117]

1. 1 [Option ID = 825]

2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]
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[Question ID = 208][Question Description = S8_Hindi Content/Pedagogy_Q118]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]
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[Question ID = 209][Question Description = S8_Hindi Content/Pedagogy_Q119]
S

3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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[Question ID = 210][Question Description = S8_Hindi Content/Pedagogy_Q120]
1. 1 [Option ID = 837]

2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

Topic:- ENG_Q121-128_L2_P2_CTET

1)
Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

The old lady :

(1) was steadily losing her eyesight.

(2) was approached by a famous doctor.
(3) knew that the doctor was greedy.

(4) was advised to get her eyes tested.

[Question ID = 361][Question Description = S8_English Content/Pedagogy_Q121]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]

2)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

The fee for treatment was :

(1) agreed on through mutual agreement.
(2) quite exhorbitant.

(3) to be paid in cash.

(4) to be paid in advance.

[Question ID = 362][Question Description = S8_English Content/Pedagogy_Q122]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]
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Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

The old lady readily agreed to pay the high fee to the doctor because she :
(1) knew she had nothing to give him.

(2) knew she would pretend to be blind later.

(3) wanted to be cured of her weak eyesight.

(4) wanted to test the knowledge of the doctor.

[Question ID = 363][Question Description = S8_English Content/Pedagogy_Q123]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]
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Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

The doctor pilfered the items of her furniture :
(1) before he began the treatment.

(2) after the treatment.

(3) during the treatment.

(4) as per their mutual agreement.

[Question ID = 364][Question Description = S8_English Content/Pedagogy_Q124]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]
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Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

The moral of the story is :

(1) As you sow, so shall you reap.

(2) Be watchful when you are being treated.
(3) Dishonesty is the best policy.

(4) A thief has no feet to stand upon.

[Question ID = 365][Question Description = S8_English Content/Pedagogy_Q125]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]
3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]
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Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

We know that the doctor was greedy because he :

(1) wanted a suitable reward.

(2) removed many pieces of furniture.

(3) demanded a fabulous fee without curing the woman’s eyesight.
(4) demanded the fee after making the old lady completely blind.

[Question ID = 366][Question Description = S8_English Content/Pedagogy_Q126]
1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]
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Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

Give the antonym of the word ‘losing’ :

(1) Boosting

(2) Multiplying

(3) Winning

(4) Flourishing
[Question ID = 367][Question Description = S8_English Content/Pedagogy_Q127]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]

3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]
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Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options :

A rich old lady was steadily losing her eyesight, so she called in a famous doctor who examined
her and offered to cure her completely. He demanded a very big fee and the rich lady gladly
agreed to pay him the money if he could restore her sight. The doctor bandaged her eyes and
carried out the treatment, which took several days. But he was very greedy. He saw many beautiful
pieces of furniture with which the house of his patient was furnished and each day, he carried
away one of the best pieces till there was hardly anything left.

In the course of time, the lady was completely cured. The bandage was taken off and she
could see everything clearly. Then she discovered that almost all her furniture was gone. When
the doctor came for his payment, she said,” Look here, doctor, I am by no means cured, for I cannot
see my furniture in my house. I am not going to pay you anything. The doctor was thus paid in his
own coin. But the doctor refused to leave without his fee. He called the police. When the police
came, they tried to interview and asked the old lady why she was refusing the payment when she
got the treatment. The lady explained the whole thing and said that she suffered loss of her costly
furniture in the process of treatment. She insisted on the return of her furniture before the payment.
The doctor was adamant and refused to budge and blamed the police for taking the side of the old
lady. The police then took the doctor into custody and put him behind the bars. Thus the old lady
turned the tables on the doctor.

In the end the lady refused to pay the doctor because :
(1) she was not cured.

(2) she did not have money to pay.

(3) he had stolen her furniture.

(4) got enraged when the doctor summoned the police.

[Question ID = 368][Question Description = S8_English Content/Pedagogy_Q128]
1. 1 [Option ID = 1469]
2. 2 [Option ID = 1470]
3. 3 [Option ID = 1471]
4. 4 [Option ID = 1472]

Topic:- ENG_Q129-135_L2_P2_CTET
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Read the passage given below and answer the question that follow by selecting the correct/
most appropriate options :

We all have neighbours. The people whose houses are next to our own are our neighbours,
and the ones who live along the same street as we do are also our neighbours. We see them often
and recognise them. Those whom we see most, we greet on meeting and sometimes we become
friendly with them. A neighbour is someone whom one should be able to turn to in times of
difficulty. When neighbours work together, helping one another, they can do many things to
improve their community. A good neighbour should be a friend. '

Countries, like people, also have neighbours. Although these neighbours are not as close to
us as those who live next door, they are not really too far away. Aeroplanes can take us to them in
just a few hours and everyday the newspapers, the radio and the T.V channels bring us news
about them and tell us what they are thinking and doing about many important matters.

Like people, countries can be good or bad neighbours. When they are unfriendly to one
another they can make trouble for their people, sometimes even cause wars. But when their feelings
for one another are kind and friendly, as they should be, they can come closer. Together they can
try to get over their problems, and make life happier for their people. We can help people much
better when we get to know them. And as we become acquainted we often find that others are not
really an different from us as we had imagined. Our ways of living and many of our ideas are the
same and this helps us to be friends. Even the things which seem strange need not come in the
way of our understanding each other.

Who are India’s closest neighbours ? Near the Southern tip of our country, not very far from
Kanya Kumari is the island of Sri Lanka. In the North nestling among the world’s highest mountain
lies the country of Nepal. Nearby is the smallest Himalayan kingdom of Bhutan, which has a
special relationship with India. In the north-west is Pakistan, and in the north-east is Bangladesh.
In the east is Burma (Now Myanmar), which juts into the Bay of Bengal.

Our neighbours are people who :

(1) visit us frequently.

(2) live nearby.

(3) greet us.

(4) help us in the hour of our need.

[Question ID = 369][Question Description = S8_English Content/Pedagogy_Q129]
1. 1 [Option ID = 1473]
2. 2 [Option ID = 1474]
3. 3 [Option ID = 1475]
4. 4 [Option ID = 1476]
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Read the passage given below and answer the question that follow by selecting the correct/
most appropriate options :

We all have neighbours. The people whose houses are next to our own are our neighbours,
and the ones who live along the same street as we do are also our neighbours. We see them often
and recognise them. Those whom we see most, we greet on meeting and sometimes we become
friendly with them. A neighbour is someone whom one should be able to turn to in times of
difficulty. When neighbours work together, helping one another, they can do many things to
improve their community. A good neighbour should be a friend. '

Countries, like people, also have neighbours. Although these neighbours are not as close to
us as those who live next door, they are not really too far away. Aeroplanes can take us to them in
just a few hours and everyday the newspapers, the radio and the T.V channels bring us news
about them and tell us what they are thinking and doing about many important matters.

Like people, countries can be good or bad neighbours. When they are unfriendly to one
another they can make trouble for their people, sometimes even cause wars. But when their feelings
for one another are kind and friendly, as they should be, they can come closer. Together they can
try to get over their problems, and make life happier for their people. We can help people much
better when we get to know them. And as we become acquainted we often find that others are not
really an different from us as we had imagined. Our ways of living and many of our ideas are the
same and this helps us to be friends. Even the things which seem strange need not come in the
way of our understanding each other.

Who are India’s closest neighbours ? Near the Southern tip of our country, not very far from
Kanya Kumari is the island of Sri Lanka. In the North nestling among the world’s highest mountain
lies the country of Nepal. Nearby is the smallest Himalayan kingdom of Bhutan, which has a
special relationship with India. In the north-west is Pakistan, and in the north-east is Bangladesh.
In the east is Burma (Now Myanmar), which juts into the Bay of Bengal.

We get news about our neighbouring countries quickly :
(1) from the radio, T.V and newspapers.
(2) only by visiting them.
(3) by thinking about their well-being,
(4) by corresponding with them.,
[Question ID = 370][Question Description = S8_English Content/Pedagogy_Q130]
1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]

3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]

3)



Read the passage given below and answer the question that follow by selecting the correct/
most appropriate options :

We all have neighbours. The people whose houses are next to our own are our neighbours,
and the ones who live along the same street as we do are also our neighbours. We see them often
and recognise them. Those whom we see most, we greet on meeting and sometimes we become
friendly with them. A neighbour is someone whom one should be able to turn to in times of
difficulty. When neighbours work together, helping one another, they can do many things to
improve their community. A good neighbour should be a friend. '

Countries, like people, also have neighbours. Although these neighbours are not as close to
us as those who live next door, they are not really too far away. Aeroplanes can take us to them in
just a few hours and everyday the newspapers, the radio and the T.V channels bring us news
about them and tell us what they are thinking and doing about many important matters.

Like people, countries can be good or bad neighbours. When they are unfriendly to one
another they can make trouble for their people, sometimes even cause wars. But when their feelings
for one another are kind and friendly, as they should be, they can come closer. Together they can
try to get over their problems, and make life happier for their people. We can help people much
better when we get to know them. And as we become acquainted we often find that others are not
really an different from us as we had imagined. Our ways of living and many of our ideas are the
same and this helps us to be friends. Even the things which seem strange need not come in the
way of our understanding each other.

Who are India’s closest neighbours ? Near the Southern tip of our country, not very far from
Kanya Kumari is the island of Sri Lanka. In the North nestling among the world’s highest mountain
lies the country of Nepal. Nearby is the smallest Himalayan kingdom of Bhutan, which has a
special relationship with India. In the north-west is Pakistan, and in the north-east is Bangladesh.
In the east is Burma (Now Myanmar), which juts into the Bay of Bengal.

Our ways of living are from the people of our neighbouring countries.
(1) altogether different
(2) not very different
(3) almost a kin to those living with us.
(4) both (2) and (3)
[Question ID = 371][Question Description = S8_English Content/Pedagogy_Q131]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]

3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]

4)



Read the passage given below and answer the question that follow by selecting the correct/
most appropriate options :

We all have neighbours. The people whose houses are next to our own are our neighbours,
and the ones who live along the same street as we do are also our neighbours. We see them often
and recognise them. Those whom we see most, we greet on meeting and sometimes we become
friendly with them. A neighbour is someone whom one should be able to turn to in times of
difficulty. When neighbours work together, helping one another, they can do many things to
improve their community. A good neighbour should be a friend. '

Countries, like people, also have neighbours. Although these neighbours are not as close to
us as those who live next door, they are not really too far away. Aeroplanes can take us to them in
just a few hours and everyday the newspapers, the radio and the T.V channels bring us news
about them and tell us what they are thinking and doing about many important matters.

Like people, countries can be good or bad neighbours. When they are unfriendly to one
another they can make trouble for their people, sometimes even cause wars. But when their feelings
for one another are kind and friendly, as they should be, they can come closer. Together they can
try to get over their problems, and make life happier for their people. We can help people much
better when we get to know them. And as we become acquainted we often find that others are not
really an different from us as we had imagined. Our ways of living and many of our ideas are the
same and this helps us to be friends. Even the things which seem strange need not come in the
way of our understanding each other.

Who are India’s closest neighbours ? Near the Southern tip of our country, not very far from
Kanya Kumari is the island of Sri Lanka. In the North nestling among the world’s highest mountain
lies the country of Nepal. Nearby is the smallest Himalayan kingdom of Bhutan, which has a
special relationship with India. In the north-west is Pakistan, and in the north-east is Bangladesh.
In the east is Burma (Now Myanmar), which juts into the Bay of Bengal.

Neighbouring countries can become friendly if they :
(1) understand each other’s problems.
(2) protect their borders properly.
(3) have competent ambassadors.
(4) try to think alike.
[Question ID = 372][Question Description = S8_English Content/Pedagogy_Q132]
1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]

3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]

5)



Read the passage given below and answer the question that follow by selecting the correct/
most appropriate options :

We all have neighbours. The people whose houses are next to our own are our neighbours,
and the ones who live along the same street as we do are also our neighbours. We see them often
and recognise them. Those whom we see most, we greet on meeting and sometimes we become
friendly with them. A neighbour is someone whom one should be able to turn to in times of
difficulty. When neighbours work together, helping one another, they can do many things to
improve their community. A good neighbour should be a friend. '

Countries, like people, also have neighbours. Although these neighbours are not as close to
us as those who live next door, they are not really too far away. Aeroplanes can take us to them in
just a few hours and everyday the newspapers, the radio and the T.V channels bring us news
about them and tell us what they are thinking and doing about many important matters.

Like people, countries can be good or bad neighbours. When they are unfriendly to one
another they can make trouble for their people, sometimes even cause wars. But when their feelings
for one another are kind and friendly, as they should be, they can come closer. Together they can
try to get over their problems, and make life happier for their people. We can help people much
better when we get to know them. And as we become acquainted we often find that others are not
really an different from us as we had imagined. Our ways of living and many of our ideas are the
same and this helps us to be friends. Even the things which seem strange need not come in the
way of our understanding each other.

Who are India’s closest neighbours ? Near the Southern tip of our country, not very far from
Kanya Kumari is the island of Sri Lanka. In the North nestling among the world’s highest mountain
lies the country of Nepal. Nearby is the smallest Himalayan kingdom of Bhutan, which has a
special relationship with India. In the north-west is Pakistan, and in the north-east is Bangladesh.
In the east is Burma (Now Myanmar), which juts into the Bay of Bengal.

Nepal is situated among the :
(1) Shivalak Mountains
(2) Himalayan Mountains
(3) Northern Mountains
(4) Kumaon hills

[Question ID = 373][Question Description = S8_English Content/Pedagogy_Q133]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]

6)



Read the passage given below and answer the question that follow by selecting the correct/
most appropriate options :

We all have neighbours. The people whose houses are next to our own are our neighbours,
and the ones who live along the same street as we do are also our neighbours. We see them often
and recognise them. Those whom we see most, we greet on meeting and sometimes we become
friendly with them. A neighbour is someone whom one should be able to turn to in times of
difficulty. When neighbours work together, helping one another, they can do many things to
improve their community. A good neighbour should be a friend. '

Countries, like people, also have neighbours. Although these neighbours are not as close to
us as those who live next door, they are not really too far away. Aeroplanes can take us to them in
just a few hours and everyday the newspapers, the radio and the T.V channels bring us news
about them and tell us what they are thinking and doing about many important matters.

Like people, countries can be good or bad neighbours. When they are unfriendly to one
another they can make trouble for their people, sometimes even cause wars. But when their feelings
for one another are kind and friendly, as they should be, they can come closer. Together they can
try to get over their problems, and make life happier for their people. We can help people much
better when we get to know them. And as we become acquainted we often find that others are not
really an different from us as we had imagined. Our ways of living and many of our ideas are the
same and this helps us to be friends. Even the things which seem strange need not come in the
way of our understanding each other.

Who are India’s closest neighbours ? Near the Southern tip of our country, not very far from
Kanya Kumari is the island of Sri Lanka. In the North nestling among the world’s highest mountain
lies the country of Nepal. Nearby is the smallest Himalayan kingdom of Bhutan, which has a
special relationship with India. In the north-west is Pakistan, and in the north-east is Bangladesh.
In the east is Burma (Now Myanmar), which juts into the Bay of Bengal.

If the neighbouring countries understand each other :

(1) there will not be any border disputes.

(2) their trade and commerce will decrease.

(3) their people will stop to be friendly towards each other.
(4) they need not deploy armed forces on their borders.

[Question ID = 374][Question Description = S8_English Content/Pedagogy_Q134]
1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]
3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]

7)



Read the passage given below and answer the question that follow by selecting the correct/
most appropriate options :

We all have neighbours. The people whose houses are next to our own are our neighbours,
and the ones who live along the same street as we do are also our neighbours. We see them often
and recognise them. Those whom we see most, we greet on meeting and sometimes we become
friendly with them. A neighbour is someone whom one should be able to turn to in times of
difficulty. When neighbours work together, helping one another, they can do many things to
improve their community. A good neighbour should be a friend. '

Countries, like people, also have neighbours. Although these neighbours are not as close to
us as those who live next door, they are not really too far away. Aeroplanes can take us to them in
just a few hours and everyday the newspapers, the radio and the T.V channels bring us news
about them and tell us what they are thinking and doing about many important matters.

Like people, countries can be good or bad neighbours. When they are unfriendly to one
another they can make trouble for their people, sometimes even cause wars. But when their feelings
for one another are kind and friendly, as they should be, they can come closer. Together they can
try to get over their problems, and make life happier for their people. We can help people much
better when we get to know them. And as we become acquainted we often find that others are not
really an different from us as we had imagined. Our ways of living and many of our ideas are the
same and this helps us to be friends. Even the things which seem strange need not come in the
way of our understanding each other.

Who are India’s closest neighbours ? Near the Southern tip of our country, not very far from
Kanya Kumari is the island of Sri Lanka. In the North nestling among the world’s highest mountain
lies the country of Nepal. Nearby is the smallest Himalayan kingdom of Bhutan, which has a
special relationship with India. In the north-west is Pakistan, and in the north-east is Bangladesh.
In the east is Burma (Now Myanmar), which juts into the Bay of Bengal.

Give the antonym of the word ‘Strange” :
(1) Notable

(2) Familiar
(3) Friendly
(4) Queer

[Question ID = 375][Question Description = S8_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]
3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]

Topic:- ENG_Q136-150_L2_P2_CTET

1)
In a language classroom, the teacher had pasted some text on the walls of the classroom.
Now, in a pair, one student goes to the text and then conveys that message orally to
his/her partner, and then he/she writes that message on a piece of paper. This activity is
known as :
(1) Partial dictation

(2) Running dictation

(3) Partner dictation

(4)

4) Jigsaw dictation



[Question ID = 376][Question Description = S8_English Content/Pedagogy_Q136]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]

2)
When we read a text or a story, we use our knowledge of the structure of the language to
predict what will come next. What is this known as ?
(1) Semantic cues
(2) Structural cues
(3) Syntactic cues
(4) Thematic cues
[Question ID = 377][Question Description = S8_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]

3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]

3)

When students were working in groups, the teacher observed that one of the students in
a group was more interested in expressing his/her ideas or opinions than listening to the

ideas of other group members. He just pretends that he is listening. Such listening is
known as :

(1) Passive listening

(2) Reflective listening

(3) Combative listening

(4) Post listening
[Question ID = 378][Question Description = S8_English Content/Pedagogy_Q138]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]

3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]

Y The whole language approach relies on the meaning of the :
(1) text rather than the individual words.

(2) words rather than the individual text.

(3) letter rather than the individual words.

(4) the individual letters sound rather than words.

[Question ID = 379][Question Description = S8_English Content/Pedagogy_Q139]
1. 1 [Option ID = 1513]
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]

5)



In a language classroom, when the teacher is teaching, the students are effectively

concentrating on the contents and jotting down something as delivered by the teacher.
They are involved in :

(1) Note taking

(2) Notice writing

(3) Letter writing

(4) Paragraph writing

[Question ID = 380][Question Description = S8_English Content/Pedagogy_Q140]

1.
2.
3.
4.

1 [Option ID = 1517]
2 [Option ID = 1518]
3 [Option ID = 1519]
4 [Option ID = 1520]

6)

Multilingualism in school education in India refers to

(1) using it as a resource in the teaching - learning of languages and content subjects

(2) keep up with the changes, all students should learn as many languages as possible

(3) learning English by everyone in an English medium school

(4) learning three languages, beginning with mother tongue and progressing to Hindi
and English

[Question ID = 381][Question Description = S8_English Content/Pedagogy_Q141]

A WN =

7

1 [Option ID = 1521]
2 [Option ID = 1522]
3 [Option ID = 1523]
4 [Option ID = 1524]

)

A teacher of class 8 believed that the linguistic experiences and expression of children

should be at the discourse level. To bring it into practice in the language class, she should
involve learners in ;

(1) Dialogue

(2) Pantomime
(3) Silent reading
(4) Mime

[Question ID = 382][Question Description = S8_English Content/Pedagogy_Q142]

1
2
3.
4

. 1 [Option ID = 1525]
. 2 [Option ID = 1526]

3 [Option ID = 1527]

. 4 [Option ID = 1528]

8)

The idea that social interaction can promote effective learning has been acknowledged

(1) Lev Vygotsky
(2) Jean Piaget

(3) Noam Chomsky
(4) B.F Skinner

[Question ID = 383][Question Description = S8_English Content/Pedagogy_Q143]

1.

1 [Option ID = 1529]



2. 2 [Option ID = 1530]
3. 3 [Option ID = 1531]
4. 4 [Option ID = 1532]
9)
A teacher asked the learners to swap their paragraphs for peer assessment and gave them
the parameters to assess the paragraphs writing. Which one of the parameters is NOT
important for assessing paragraph writing ?
(I) Topic sentence
(2) Supporting details
(3) Good Handwriting
(4) Coherence
[Question ID = 384][Question Description = S8_English Content/Pedagogy_Q144]
. 1 [Option ID = 1533]
. 2 [Option ID = 1534]

. 3 [Option ID = 1535]
. 4 [Option ID = 1536]

A WN =

10 Which one of the following is not a sub-skill of reading ?

(1) Connecting

(2) Predicting
(3) Interacting
(4) Synthesizing

[Question ID = 385][Question Description = S8_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1537]
2. 2 [Option ID = 1538]
3. 3 [Option ID = 1539]
4. 4 [Option ID = 1540]

11)
A teacher after completing the chapter, gave a handout to the students based on the
summary of the chapter read and dropped every sixth word from it and asked her learners
to supply the missing words. What is this test known as ?

(1) A cloze test
( Fill in the blanks
( Complete the summary
(4) Writing test

S
T e

[Question ID = 386][Question Description = S8_English Content/Pedagogy_Q146]
1 [Option ID = 1541]
2 [Option ID = 1542]
3 [Option ID = 1543]
4 [Option ID = 1544]

AN wNn =

12) Language skills can be learnt better if they are taught :

(1)  with the help of challenging drills.

(2) in an integrated manner.
(3) through written tests and practices.
(4) in sequence, i.e, listening, speaking, read'mg, and writing.

[Question ID = 387][Question Description = S8_English Content/Pedagogy_Q147]



. 1 [Option ID = 1545]
. 2 [Option ID = 1546]
. 3 [Option ID = 1547]
. 4 [Option ID = 1548]

AN wNn =

13)

Dhruv has completed his report. He has re-read it and made corrections. There aren’t
any misspelt words or grammatical errors. He is ready to share his writing with his
teacher. Which stage of the writing process does Dhruv is in ?

(1) Pre-writing

(2) Drafting
(3) Proofreading
(4) Publishing

[Question ID = 388][Question Description = S8_English Content/Pedagogy_Q148]
. 1 [Option ID = 1549]
. 2 [Option ID = 1550]
. 3 [Option ID = 1551]
. 4 [Option ID = 1552]

A WwWN =

14) ‘Declarative knowledge’ in learning grammar refers to knowing

(1) about the rules of grammatical items
(2) how to deal with a grammatical item
(3) to use a dictionary

(4) the ideas of language learning

[Question ID = 389][Question Description = S8_English Content/Pedagogy_Q149]
1 [Option ID = 1553]
2 [Option ID = 1554]
3 [Option ID = 1555]
4 [Option ID = 1556]

A wWw N =

15)
A teacher wanted her students to learn vocabulary effectively. Which of the following
ways should she adopt to teach vocabulary in her classroom ?
(1)  Writeall the new words on the blackboard and their meanings in the target language.

(2) Instruct her students to underline difficult words in a lesson and seek clarification
from their parents.

(3) Ask them to find the meanings of the words in the dictionary.
(4)  Ask them to group the words into meaningful categories and use them for real-life
purposes.

[Question ID = 390][Question Description = S8_English Content/Pedagogy_Q150]
1 [Option ID = 1557]
2 [Option ID = 1558]
3 [Option ID = 1559]
4 [Option ID = 1560]

A wWN =






